
Determine	
  the	
  center	
  of	
  mass	
  of	
  the	
  earth/moon	
  
system.	
  

1.)	
  

Problem	
  9.36	
  

me

xcm =
mixi∑

mtotal

     = mexe + mmxm

me + mm

     =
5.97x1024  kg( ) 0 m( ) + 7.35x1022  kg( ) 3.84x108  m( )

5.97x1024  kg( ) + 7.35x1022  kg( )
     = 4.76x106  m

mm
The	
  center	
  of	
  mass	
  rela:onship	
  in	
  this	
  one-­‐
dimensional	
  situa:on	
  asks	
  you	
  to	
  determine	
  the	
  x-­‐
coordinate	
  of	
  a	
  mass	
  in	
  the	
  system,	
  then	
  mul:ply	
  
that	
  coordinate	
  by	
  the	
  mass	
  itself.	
  	
  Weight	
  all	
  the	
  
coordinates	
  in	
  this	
  way,	
  sum	
  up	
  the	
  products,	
  then	
  
divide	
  by	
  the	
  total	
  mass	
  in	
  the	
  system.	
  	
  Doing	
  this	
  
for	
  this	
  situa:on	
  yields:	
  	
  	
  

xe = 0 xm = 3.84x108  m

(this	
  is	
  from	
  the	
  earth’s	
  center)	
  


